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MODULE: 1
INTRODUCTION

Definition of a Turbo machine

A turbo machine is a device in which energy transfer occurs between a flowing fluid and
rotating element due to dynamic action. This results in change of pressure and momentum of the fluid.

Parts of a turbo machine

Inlet Stator or housing
[

Fig: 1.1. Schematic cross-sectional view of a turbine showing the principal parts of the turbomachine.
The principle components of a turbo machine are:
1. Rotating element (vane, impeller or blades)— operating in a stream of fluid.

2. Stationary elements — which usually guide the fluid in proper direction for efficient energy
conversion process.

3. Shaft — This either gives input power or takes output power from fluid under dynamic
conditions and runs at required speed.

4. Housing — to keep various rotating, stationery and other passages safely under dynamic
conditions of the flowing fluid.

E.g. Steam turbine parts and Pelton turbine parts.

Classification of turbo machines
1. Based on energy transfer

a) Energy is given by fluid to the rotor - Power generating turbo machine E.g.
Turbines

b) Energy given by the rotor to the fluid — Power absorbing turbo machineE.g.
Pumps, blowers and compressors

2. Based on fluid flowing in turbo machine



a) Water
b) Air

c) Steam
d) Hot gases
e) Liquids like petrol etc.

3. Based on direction of flow through the impeller or vanes or blades, with reference to the
axis of shaft rotation

a) Axial flow — Axial pump, compressor or turbine
b) Mixed flow — Mixed flow pump, Francis turbine
c) Radial flow — Centrifugal pump or compressor
d) Tangential flow — Pelton water turbine
4. Based on condition of fluid in turbo machine
a) Impulse type (constant pressure) E.g. Pelton water turbine
b) Reaction type (variable pressure) E.g. Francis reaction turbines

5. Based on position of rotating shaft a)
Horizontal shaft — Steam turbines

b) Vertical shaft — Kaplan water turbines c)
Inclined shaft — Modern bulb micro

Comparison between positive displacement machines andTurbo machines

Comparison between positive displacement machines andTurbo machines

Turbo machines Positive displacement machines
| It creates Thermodynamic & Dynamic It creates Thermodynamic &Mechanical
action b/w rotating element & flowing fluid, action b/w moving member&static fluid,
energy transfer takes place if pressure and energy transfer takes place with displacement
momentum changes of fluid
| It involves a steady flow of fluid & rotating It involves a unsteady flow of fluid &
motion of mechanical element reciprocating motion
| They operate at high rotational speed They operate at low speed
| Change of phase during fluid flow causes Change of phase during fluid flow causes
serious problems in turbomachine less problems in Positive displacement
machines
| Efficiency is usually less Efficiency is higher
I It is simple in design It is complex in design
| Due to rotary motion vibration problems are Due to reciprocating motion vibration
less problems are more
E.g. Hydraulic turbines, Gas turbines, Steam E.g. 1.C engines, Reciprocating air
turbines etc. compressor, pumps etc.

Effect of Reynolds Number

Just like flow in pipes with friction, with decreasing Reynolds number, the loss factor
increases at first slowly, thenmore and more rapidly in Turbo machines.




The majority of ordinary turbo machines, (handling water, air, steam or gas) are found to operate in
fully rough region.

The critical Reynolds number, at which the flow becomes fully rough, varies with the size of the
machine (it dependson relative roughness) and its exact location for a given machine is difficult to
predict.
The understanding of boundary layer and its separation is of importance in losseffects. The graph
shows the loss factor in head and efficiency of a moderate size centrifugal pump
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Unit Quantities

Unit quantities are unit flow, unit power and unit speed which are under considerations of unit

meter in connection with hydraulic turbines. In other words, the unit quantities are defined for the
head of 1m.

(a) Unit flow:Unit flowis the flow of 1m?/s that occurs through the turbomachine while
working under a head of 1m.Qy
W k.t the discharge through a turbine 1s given by
Q = Area x Velocity

1ce the area of flow for a turbine is constant
QxV
V=0C,/2gH
VavH
Q «cVH
Q =KVH



When H=1m. Q=Qysubstuting these condition in above equation
Qu = kKV1
ThenQ = Q,VH

Qu =
(b) Unit Speed: Speed of the turbine working under a unit head. N,
W k.t the peripheral velocity of the vanes is given by,
U=,2gH
UoVH

SIS

Also
__ DN
T 60
UavVH
Comparing above two equations
N < VH
N =KVH

When H=1m, U=U, substuting these condition in above equation

Ny = Kﬁ

Then

(¢) Unit Power: The power developed by the turbine working under a unit head. Py,
W k.t the overall efficiency of the turbine is given by,
P
Mo = wor
1000
WQH
1000
P x QH
P ocVH x H
P o H3/2
P =KH??

P=n,



When H=1m, P=P}; substuting these condition in above equation
Py =K X 13/2
K =Py
P =Py x H3/?

Then

Dimensionless groups and their significance

The Performance of a turbomachine like pumps, water turbines, fans or blowers for incompressible
flow can beexpressed as a function of:

(i) Density of the fluid

(ii) Speed of the rotor N

(iif) Characteristic diameter D

(iv) Discharge Q

(v) Gravity head (gH)

(vi) Power developed P and

(vii) Viscosity p.

Obtain dimensionless groups and explain their significance.

Solution
Using Buckingham p theorem

Turbo machine=f[ , N, D, Q, gH, P, u]
Performance

Taking N, D as repeating variables and grouping with other variables as non dimensional groups



T = [p(ﬂ’ Nblchl, Q]
Ty, = [p{]‘.Z) sz’ I.Dt.’.'zJ H]
T3 = [p{]‘.?)) Nb3’ DCB, H]

4 b4 4
(I’N ,DC

Ty = [p U]

T =33 Flow coefficient
T2 = NZDZ Head coefficient
m3 = ——=—= Power coefficient
My = Reynolds number

DZ
For model studies for similar turbomachines, we can use

For model studies for similar turbomachines, we can use

Q O
NiD3; ~ N,D3,

Hy H;
N2,D%2,  N2,DZ2,

Py P
ﬂ1N31951 B 92N32952

o M2
P1N1D21 PzNzDzz

Significance of Non Dimensional & Groups

1. Discharge coefficient or capacity coefficient

T = Nf)s = (1 1s capacity coefficient or flow coefficient for similar Turbo machines.
Q D*V VvV p v mD? .
™ =Np3“ND?“ND se=AV=g
Vv o1
my = U = (1‘)

Where ¢ is called speed 1'ati0:%

For any giver turbo machine, speed ratio is fixed.
For a given pump or fan of certain diameter running at various speeds the discharge is

proportional is speed.



2. Head coefficient

Ty, = 15 called head coefficient.
NZD2
H 17
Ty :W:F i.e UaND

The above ratio shows that head coefficient will be similar for same type of pumps or

turbines for given impeller size and head varies as square of the tangential speed of the rotor.

-

3. Power coefficient
P . Ny .
My = ———Is called power coefficient or Specific power.
P

For a given pump or a water turbine, the power is directly proportional to the cube of the

speed of runner.

SPECIFIC SPEED - Pumps, fans, blowers and compressors
Specific Speed (Q) is a dimensionless term of great importance in pumps, fans, blowers and
COMPIessors

(:Hl:)1/2 _ 01/2 (D2N2)3/4 _ NQI/Z
(m)3/* — (ND)V2 T (gH)MA T (gH)34

Where s =

This can also be expressed as,

N2

T O3/

Ns

The above equation is the specific speedequation for a pump. It is defined as a “speed

3

of a geometrically similar machine discharging 1 m*/s of water under a head of Im’

Specific Speed of a Turbine

The specific speed of a turbine () is obtained by the combination of head coefficient
and power coefficient asfollows.

(HS)I/Z pl/2 (N2D2)5/4 NPL/2
M = = * =
¢ (my)¥4 T (pNEDSYVZT (gH)S T pl/2(gH)S/

But for the incompressible fluid, the term is dropped off as constant

pl/2(gH)3/%
Then the specific speed becomes

NVP

Ns = H5/4

The above equation is the specific speedequation foe a turbine. It is defined as a “speed of a
geometrically similar machine which produces 1 KW power under a head of 1m”
Application of First and Second Laws to Turbo Machines



Fig 1.2 Steady flow energy process in turbo machine

STEADY FLOW ENERGY EQUATION - | Law of Thermodynamics
Taking unit mass flow rate entering the turbc machine (1 Kg) at section 1-1 and leaving at saction 2-2 through control
volume as shown in figure.

D UV 2407 40 = Wl Doz V12007, i)
Where,

u = Internal Energy (JKg)

p = Pressura Intensity {Wm®)

v = Specific Volume {m*'Kg)

V = Velocity of the fluid (misec)

Z = Potential haad from datum (m)

g = Acceleration due to gravity (m/sec®)

q = Heat transfer through contral volume (JEg)

w =Work dona (Nm/Eg)

In a Turbo machine, during the flow process, it is assumed to be adiabatic, i.2. no heat enters or leaves the system,
henco heat transfer can be neglectadie., q=10.
Taking pv = BT and u = G, T, the equation (1) becomes
=D (G T AT 4V 2407 = WG T+ AT+ V124072 . (2)

or

Ty (Co+R)+V 1’.l‘2+g2|= w+Tz {Crl-R]+v22|f2+ [+ . 3
If the flow throwgh the turbo machine is horizontal as shown in figure and aligned, Z.= Z:

Hence, rearanging aquation {3) it bacomes

= W= (G R T Tl WA VA2) L)



Taking Cp— G, = R, the above equation becomes

?  w= Cp(Mi-T+MV:*V:72) ... (5)
Taking enthalpy h= CT,
= (hy—ha)+(V>V2%/2) per unit mass rate

-

P
Lapavenr Ul

or T Ao
P ow= (e Vi%2) - (hesV2) 6) §

wherg, T oy

h = Static enthalpy '

V?/2 = Kinetic enargy

Taking stagnation enthalpy = Static enthalpy + Kinetic energy, i.e. '
= I'b =h +V2I'2 L — 5 ENTRpy

The equation (6) becomes
W = (Rgy — hgal = - ARy [Stagnation enthalpy change]

=> Thus, in a turbo machine, we assume that there will be kinetic energy (high velocity) during flow and nom
stagnation enthalpy change is considerad under dynamic conditions.

=  In power generating turbo machines, ‘W' will be positive and Ahawill be negative i.e., stagnation enthalpy w
decreasing from inlet to cutlet of a turbo machine rotor.
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= Iin a power absorbing turbo machine, ‘W’ will be negative and ahgwill be positive i.e., stagnation enthalpy wi
be increasing from inlet to outlet of a turbo machine rotor.

=2 It should be understood that work done or enthalpy change will occur only during transfer of energy throug!
impellers or rotors and not through stators or fixed passages.

= Only pressure change, kinetic energy change or potential energy change will occur through stationery or stato
passages depending on shape during the dynamic action of fiow in the turbo machine.



THERMODYNAMICS OF FLUID FLOW
Static and Stagnation states

Turbomachines involve the use of compressible and incompressible fluids. In compressible
TM’s fluid move with velocities more than Mach one at many locations. In incompressible TM’s the
fluid velocities are generally low, however, K.E. and P.E. of the moving fluid are very large and
cannot be neglected To formulate equations based on actual state of the fluid based on laws of
thermodynamics two states are used.

The states are static state and stagnation states.
Static State

If the measuring instrument is static with respect to the fluid, the measuredquantity is known
as static property. The measured static property could bepressure, velocity temperature, enthalpy etc.
The state of the particle fixed by aset of static properties is called static state.

Stagnation State

It is defined as the terminal state of a fictitious, isentropic work-free and steadyflow process during
which the final macroscopic P.E. and K.E. of the fluid particleare reduced to zero.

Real process does not lead to stagnation state because no real process isisentropic. Stagnation
property changes provide ideal value against which the realmachine performance can be compared. It
is possible to obtain stagnationproperties in terms of static properties by using the definition of
stagnation state.Consider the steady flow process given by the first law of thermodynamics.

2 \
Vo +9Z,

q+! h,+7+gz,- i:w+! h, + 2

qg-w=Ah+ Ake+ Ape
Static state is the initial state in a fictitious isentropic work free , steady flow

process and the stagnation state is the terminal state in which the ke and pe are
reduced to zero, one can define a stagnation state at the initial static state.

qg-w=Ah+ Ake + Ape
q=0; w=0; ke,=0; pe,=0; Ah=h,-h,
h, = (h, +ke,+ pe,)———1




In the above eq. subscript o represents stagnation state and subscript i represents
initial static state
If subscript i is removed from the initial static state

h, =(h+ke+pe)-—-2

Thus stagnation state has been expressed as the sum of three static properties.
Since the process is isentropic, the final entropy is same as initial enthalpy. Final
entropy is stagnation and initial entropy is static.

$,=8--- 3
Any two independent properties at a specific state is sufficient to fix the state of
simple compressible substance by using thermodynamic relations.

a) Incompressible Fluid: (Density is constant)

T-ds=dh-vdp
but ds=0 because s,=s
dh=vdp

o 1 o
j dh= —I dp
P
Final state is stagnation with subscript o and initial state is Static without subscript

h,—h="(p,-p)
P

P,=plh,—h)+p

p,=plh+ke+pe—h)+p
V2

Po= p(7+gZ)+p

Thus stagnation pressure of an incompressible fluid is expressed in terms of static
pressure, velocity and height above a datum line.

T-ds=du+ pdv
gs=0 ass,—s
du=—-pdv

dv =0 p=constant
s =0 I, =0
Also, du=C,dT

. AF =0 E=T

Thus using thermodynamic relations stagnation pressure, Stagnation pressure,
stagnation temperature and stagnation internal energy are found.




The adiabatic efficiency of a TM can be calculated from the h-s diagram for both the expansion and
compression process. The ideal using work input or output can be using either static or stagnation

states.

(a) Power Generating Turbomachines (PGTM)
Actual work output for PGTM= ho1 — ho
n ho1 — h02
- t ho1 _ h02
h,, —h

nf s = hm h02
o1~ 'z
h01 h02
¢ -
(] h02

Nst= h,—
_h

The proper equation is determined by the conditions of Turbomachine in question.

For example in a turbine if the inlet Ke is negligible and exit Ke is used forproduction of mechanical
energy somewhere else, then static to total definition isused. If the exit Ke is wasted then static to

static definition is used.
s Hy =5

Let h,,=50; h,=48; hy,=20; h,, =15; h,=10; h, =

ho; h02 30 h,,—h,, 30
N:= =85.71% n'_szu—_—6667%
B 35 hyy—h, 45
h01 hy, _ 30 o hy,—h,, _ 30
= Lo=J9UJd7% =0 ®—-__=69.76%
90.9% =g e =T

TS he~ 83



(b) Power Absorbing Turbomachines (PATM)
Actual work input for PATM= hoz — hos

E mz,
) .- hoz — h
_P,.Z.-*"“":’ P Wy =hpy—hy n.,= H
02 o1
—t sy 2 h, —h
2' "' ", W, s= h2'_h01 N s :ﬁ
h S 02 — Moy
£ pa1 h, —h
Il’ .-""'" wsft T h02' -h1 Ns =tk
o -~ oz — g,
¢ h, - h
Ws—-s:h —h ns-s:#
1 > g : h02—h01
S

Finite stage efficiency
1. A stage with a finite pressure drop is a finite stage.

2. In a multi-stage turbine along with the overall isentropic efficiency the efficiencies of
individual stages are important.

3. Onaccount of large pressure drop and associated thermodynamic effect the overall isentropic
efficiency is not a true index of aerodynamic or hydraulic performance of machine.

4. Different stages with the same pressure drop located in different regions of h-s plane will give
different values of work output.

Effect of Reheat (Turbines)
Consider four numbers of stages between two states as shown in fig.It is assumed that the pressure

ratio and stage efficiency are samefor all the four stages.
Overall efficiency = =

The actual work during expansion from state 1 to state 2 is

The values of ideal or isentropic work in the stages are
1y 2y 3 4
The total values of actual work done in these stages are

From equation 2 &equation 3

4
Wa = nTWs B nstZAWsi
i=1

4
S aw,
= i=1 e ceoc 4
nT nst Ws

Infinitesimal stage efficiency or Polytropic efficiency(Turbines)



_I To obtain the true aerodynamic performance of a stage the concept of smallor infinitesimal
stage is used

LI This is an imaginary stage with infinitesimal pressure drop and is therefore independent of
reheat effect

[1  Fig. shows a small stage between pressures p and p-dp

The efficiency of this stage is

For infinitesimal isentropic expansion
y-1

TdrT, _‘ p—dp IT
T  p )

y-1

dr. (. dp\r
’“r—s=|’“p‘|

Expanding the terms on r.h.s. using bionomial expression and neglecting terms beyond second

dT, . (y—1Ydp
-

ﬂz[v_—’"‘ﬂ‘l
=\ VAP

Butnp=—ad—_;_T—-——1
s
_ar = AN
P T \y-1)\dp
dar._[(y—1T)Ydp) _
T'T”?l"ﬂ 2

Integrating the eq.2 between limits 1 and 2



dT v—1%dp
J,T_nJ v 1;?

T, (y-1) P
log 21 Y"'\n jog P2
9.7 VM%Q

i { Ts)

_lﬁ""ge!?f |

log.| Pz
og.| p’l
A
£='_2]I " Il"p__—4
1 ‘pf

The irreversible adiabatic (actual) expansion process can be considered as equivalent to a
polytropic process with index n.

p -.iuinn f ‘ﬂl
e[
T, \p;) Py
Equating indices
‘ y=1,).  ._¢a8=1

" n
_|(B—Ty ¥ 1 ___
The index of expansion in actual process is
4
n=——————-6
y-(y-1n,

When np=1, n=y the expansion line coincides with the isentropic expansion. The efficiency of a
finite stage can now be expressed in terms of small stage efficiency. Taking static values of Tand p
and assuming perfect gas

_Tv—Tz
=
T,- T2_T|1——|_ A P ——
(Pr)y-1" )
Tf—Ta,:T,|1——|— -—
' ' (pryv




Equations 7 and 8 can give the efficiencies of various finite expansion processes with different values
of pressure ratio and small stage efficiency

Finite stage efficiency (Compressor)
1 A compressor with a finite pressure rise is known as a finite stage
1 Stage work is a function of initial temperature and pressure ratio
1 For the same pressure ratio, a stage requires a higher value of work with higher temperature

| Thus compressor stages in the higher temperature region suffer on account of this The
above factors have a cumulative effect on the efficiency of multistage compressor

Effect of preheat (Compressor)

Consider a compressor with four stages as shown. It is assumed that all the stages have the same
efficiencies and pressure ratios.

Wi

The overall efficiency of the compressor is = "

AW, _AW,, AW, _AW,,

However n,, = ;
w,, w,, w, w,,

¥z
i E )
Wa_ns: ;AWQ W":E:(AWM*:'AWQ*:AWS\?'FAWM)
S aw,

This makes the overall efficiency of the compressor smaller than stage efficiency
<

This is due to the thermodynamic effect called pr-heating the gas is not intentionally heated(
preheated) at the end of each compression stage. Thepreheat in small constant pressure processes is
only an internal phenomena and the compression process still remains an adiabatic process.

Infinitesimal or Polytropic Efficiency (Compressor)



I Afinite compressor stage can be made up of infinite number of small stages

| Each of these infinitesimal stages have an efficiency efficiency or infinitesimal stage
efficiency

It is independent of thermodynamic effect and is therefore the aerodynamic performance of
the compressor

1 Consider a stage in which air is compressed from state 1 to state 2. It also shows an infinite
stage operating between pressures +

T
dT,
= ——1
o dT
y-1
T+dT, (p+dp v
T l P
u
1 _‘15-—‘1+i’£|'
T p
using bionomial expansion
1+£I§.=1+‘Xi|_qg
T \ ¥ I p

Ty, [yt
- Y P

Substituting the value of dTs into equation 1

dT (y-1) dp|

el

dT _(y-1)dp)| 1
e
Ap) n,



Integrating eq.2 between state 1 to 2

T, (y-1)1 Y5 Jroa. 2
Iogizh—log& or n, =- Y / P__3
e e p T
1 VY /N, P; [ogeTz
1

Assuming the irreversible adiabatic compression as equivalent to a polytropic process with index n,
equation 3 can be written as

y-1 n-1
e
P Py
y-1_n-1
yn, n
')p=Y—1 n Yn,.

The efficiency of finite compressor stage can be related to small stage efficiency. The actual
temperature rise is given by

T2—T,=T,!%—1 ':T,I pr -1 ] where pr =Pz
B )7 | P,
}h_{l »
._.TZS—Tf_" T | _Pr : ‘1___5
L T S I e
2" ‘_2_1| pr'™ —1



Module: 2

ENERGY EXCHANGE IN TURBOMACHINES

Euler’s turbine equation




The above figure shows the velocity triangles at entry and exit of a general TM. The angular

velocity of the rotor is @ rad/sec and is given by

The peripheral velocity of the blade at the entry and exit corresponding to the diameter

Dy and D,are given by

nDyN
u; = —-——=2
60
?TDzN
Uy = -—-3
60

The three velocity vector V, u and Viat the section are related by a simple vector equation

The above figure shows the velocity triangles at entry and exit of a general TM. The angular

velocity of the rotor is @ rad/sec and is given by

The peripheral velocity of the blade at the entry and exit corresponding to the diameter

Dy and Dyare given by

mDyN
u; = —-—=2
60
?TDzN
Uy = -—-3
60

The three velocity vector V, u and Viat the section are related by a simple vector equation



V=u+V.———4

Considering unit mass of the fluid entering and leaving in unit time we have

Angular momentum of the inlet = V,;y x By — — — =5
Similarly
Angular momentum of the outlet = V,;; X R, — — — —6

Torque produced = rate of change of Angular momentum
T = {Angular momentum at inlet} — {Angular momentum at outlet}
T =VuR) — VgR2) —— =7

Therefore the work done is given by
W = Torque X angular velocity of the rotor

W = (VulRI - Vquz){U

= [Vy1(wRy) — V2 (wR5)]

21N 21N
- [VM( 60 Rl) B V“z( 60 Rz)]

W [VHI HD]_N VuzﬂDzN]
B 60 60

W = [Vyuy = Vypup] — — — 8




Alternate form of Euler’s turbine equation

RADIAL INWARD FLOW FRANCIS TURBINE

A
X v
r T
| | M
B> @ |\ 2

1 Iniet
2 Outlet

Inlet and Outlet Velocity Triangles
Referring to velocity triangles
1 —Inlet, 2 — outlet
V1 = Absolute velocity of the fluid at inlet (before entering the rotor vanes)
Vrl = Relative velocity of the fluid at rotor inlet
Vul = Tangential component of absolute velocity
OR
Whirl component of velocity at inlet
Vf1 = Flow component of absolute velocity at inlet
Vrul = Whirl component of relative velocity at inlet
U1 = Linear rotor vane velocity at inlet
1= Absolute jet angle at inlet
1 = Vane (blade) angle at inlet

Referring to outlet velocity triangle

2 — Outlet

V2 = Absolute velocity of the fluid at outlet after leaving the rotorvanes.
Vr2 = Relative velocity of the fluid rotor outlet (Just about to leavethe rotor)

Vu2 = Whirl component of absolute velocity at outlet



V{2 = Flow component of absolute velocity at outlet

Vru2 = Whirl component of relative velocity at

U2 = Linear rotor velocity at outlet

outlet

1 = Fluid or jet angle at outlet (To the direction of wheel rotation)
1= Vane (blade) angle at outlet (To the direction of wheel rotation)

From inlet velocity triangle
Vir? =Vi? = Vui?
Vn2 = Vn2 + Vru12
Vnz = V12 = Vul2 +(Vy - U1)2
=Vi?- V}Kz + V/f— Vil + Uf?

Rearranging
2VU1U1 = V12 T U12_ Vr12

VU = V2 + U2 = V,? | m%s? OR Nmrkg... (1)

2

From outlet velocity triangle
Vi = Vi + Vi®

= (Uz=Vi)* + (V2 - Vi)

Taking Vp2 = (U2 = V,2) in magnitude only and not in directions

Vii? = U2 - 2Viols + %2 +V72- ‘Kzz

ViU = V;2 + U2 = V.2 | m¥s? OR Nm/kg... (2)

2

CASE 1:

Taking direction of rotation as positive
V.1 +ve and V; also +ve.
Work done/kg or Energy transfer in Turbine

Ay

Work done’kg

(VuiU1 = Vu2U2)

Energy Transfer (E)

[V]z ¥+ U12 —Vr12] &

[

2

ViZ- Va2

2

J

U?- U

2

J

[V22 s o U:g2 - V.Qz]
2

V(22— Vr12

2

J




Components of energy transfer

Vi-v3. _ L : ,_ .
1. — change in absolute kinetic energy in m?%/s? or Nm/kg

2_q2
Us—
1 2. . . . . .
is change in centrifugal energy of fluid felt as static pressure change in rotor

blades in m?%/s* or Nm/kg

vi,—vZ
%Is change in relative velocity energy felt as static pressure change in rotor

5]

blades in m2/s2 or Nnvkg

Degree of Reaction R

Degree of Reaction R is the ratio of Energy Transfer due toStatic Enthalpy change to Total
Energy Transfer due to Total Enthalpy change in a rotor.

Statichead  Staticenthalpychange  Ah

" Totalhead ~ Totalenthalpychange I}O

Vi-Vi VH-Vh

Ah = 5 >
Ahy = VEEV% N U%;U% N VEZ;VEI
R = [(U% _ U%) + (sz - V31)]

[(V% — V%) + (U% — U%) + (V;‘f2 — V,,%l)]
Taking

212 2 2
ui—u ViV .
( 12 2) + ( r22 ’1) = SStatic component and

= K. EKinetic Energy Component (Absolute velocity change energies)

Ah



Taking

212 2 2
Uui—=u Vin =V .
( 12 2) + ( . ’1) = SStatic component and

Vy-Vy . ) , _
——2 = K. EKinetic Energy Component (Absolute velocity change energies)

S 1
_KE+S_1+KE/S

-

KE 1 [1—R]

R

=——1=

'S R

R
R
S= [—] KE
1—R

When S = Static energy felt by rotor
KE = Kinetic energy change in rotor (in terms of V1 and V2, Absolute velocities)
Effect of Blade Discharge Angle on Energy Transfer E and Degree of Reaction R
Consider an outward radial flow turbo machine as shown in figure, where 1 is inlet, 2 is
outlet
Assumptions

1) Radial velocity of flow is constant, i.e.
Vfl = V2 = Vf

2) No whirl component at inlet

Vul=0

3) Diameter at outlet is twice as at inlet, i.e.
D2 =2D1lor U2 = 2U1

4) Blade angle at inlet = 45° V1= Vfl= U1



l/,’uf/

Assuming Turbine Equation
E =WDKkg = (Vi,1U; — Vi2Us2)
Vui =0 as there is no whirl at inlet

Vu1U1 = 0

E= [ VU ... Nm/kg or J/kg or m¥/sec?
Considering outlet velocity triangle,
E=-Uz[Uz-Vo2] as Cotpo=Vne

V2
= — U [Uz— Vi Cot B3]

From assumptions
Vii=V=V;
Uz = 2Us= 2V4
E=- 2Vf [2V( - V( Cot Bz]
=—2V{ [2- Cot B2
E = 2V{#[Cot B2 — 2] taking Vi = 1 (unity) for all B2
E=2[CotB,-2] Nm/kg orJkg

Considering outlet velocity triangle
Vrgz = Vf22 + szz

= Vi’ + (Vi Cot Bo)°

=Ve?[1 + Cot? By



From inlet velocity triangle
Vi = Vi + V® = 2 V¢
Degree of reaction R is given by

R=(U? - U2 + (V2 = VD)
2X E Transfer

Substituting for V;

R=[(VZ-4V{?) + V¢ (1+ Cot’B) — 2V{]
2 x 2V (Cotpz—2)

=— 5V'2 + sz + V(ZCOtzﬂg
4V (Cotpz - 2)

V¢ [Cot’B,—4] Taking Vi = Unity
4V{ (Cotp—2)

Cot’B—4
4 (Cotpz— 2)

= (Cot B~ 2) (Cot B> +2)
4 (Cotpz—2)

R=Cotpz+2
4




Degree of Reaction R

R = (Ap) static
(Ap) stagnation

R=VioU— (V22 = V)

2
VU
R= vuzuz-[[(vfz2 +V?)- vff]
2
VU2
=1- vu22
[2Vu2U2 J
R =1- Vlg
2U,

From velocity triangle at outlet for various

1. When b2 <900 backward curves vane
Vu2 < U2
R<1>05

2. For Radial blades b2 = 900
Vu2 = U2
R=1-%=0.5

3. For forward curved vanes b2 > 900
Vu2 > U2

R<05



GENERAL ANALYSIS OF TURBOMACHINES
Axial flow compressors and pumps

Axial flow compressors and pumps are power absorbing turbomachines. These machines
absorb external power and thereby increase the enthalpy of the flowing fluid. Axial flow
turbomachines use large quantity of fluid compared to mixed and centrifugal type of turbomachines.
However, the pressure rise per stage is lower in case of axial flow turbomachines than mixed and
centrifugal flow turbomachines. Axial flow compressors are used in aircraft engines, stand alone
power generationunits, marine engines etc.

Design of axial flow compressors is more critical than the design of turbines(power
generating turbomachines). The reason is that, in compressors the flowmoves in the direction of
increasing pressure (adverse pressure gradient). If theflow is pressurized by supplying more power,
the boundary layers attached to theblades and casing get detached and reverse flow starts which lead
to flowinstability leading to possible failure of the machine. However, in turbines the fluidmoves in
the decreasing pressure (favorable pressure gradient). To transfer agiven amount of energy more
number of stages is required in compressors than inturbines. Generally, the fluid turning angles are
limited to 20° in compressors andare 150° to 165° in case of turbines. Thus the pressure rise per stage
is limited incase of compressors. Fluid flows in direction of increasing pressure, this increasesthe
density of the fluid, and thus the height of the blade decreases from the entranceto the exit. Axial flow
compressors have inlet guide vanes at the entrance anddiffuser at the exit.

Figure 1 shows the flow through the compressor and fig. 2 shows thecorresponding inlet and
exit velocity triangles. Generally for a compressor theangles are defined with respect to axial direction
(known as air angles). It can beseen that the fluid turning angle is low in case of compressors. Figure
3 shows theflow through the turbine blade and fig. 4 the corresponding inlet and exit velocitytriangles
for a turbine.

YWrai

L

N2
Vr2

U=

Fig. 1 Flow across a compressor blade

By
|
T
Via Va
Va
2y { Dt\‘

Fig. 2 Inlet and exit velocity triangles



ri

Fig. 3 Flow across a turbine blade

Va1

Va2 2

i U2

Fig. 4 Inlet and exit velocity triangles for turbine
Expression for degree of reaction for axial flow compressor

Degree of reaction is defined as a measure of static enthalpy rise that occurs in the rotor expressed as
a percentage of the total static enthalpy across the rotor.

Assumptions:
[1 The analysis is for 2-dimensional flow. The flow is assumed to take peripheral
1 velocities at inlet and outlet are same and there is no flow in the radial direction
71 1t is common to express blade angles w.r.t. axial direction in case of axial flow compressor
(air angles)

1 Axial velocity is assumed to remain constant



Figure 2 shows the inlet and exit velocity triangles for axial flow compressors. The
work done on the compressor = change in stagnation enthalpy

For an axial flows TM, from inlet velocity triangle

U=V tany +V tany ,=V_(tany +tany,)--2

Similar from the exit velocity triangle

U=V,(tany,+tany,)--3
Equating equ. 2 and equ 3 and simplifying
tany,—tany,=tany,—tany,———4

- - Vr12 — Vr22 _
2(hg, — hyy)
V,’-V,’ =V, (tan’y, - tan’y,)-——6

ho, = by =U(V,, -Vy, )

V,=Vtany, and V=V tany,

Ah, =UV,(tany,—-tany, )———7
Substuting eq. 6 and eq.7 in eq. 5

p_ V.} (tan’y, -tan’y, )
2UV, (tany,-tany, )
tany,-tany, = tany,-tany,---4

p V.} (tan’y, -tan’y, )
2UV,(tany,-tany, )

R- V,(tany +tany,) p
U
V;
R:w(cotpﬁcotﬁz)——-g
vV, 1 1

= + )
2U tang, tanp,

R- V,  tang, +tang, ,
2U " tan.tang,




Velocity triangles for different values of degree of reaction
Velocity triangles are drawn for axial flow turbo machines in which

(1)When R<0
R becomes negative when ;> {1} R<0

Va1 V2

E or WD can be positive

- Vri>Vre2

(2) When R=0; 1> »; impulse TM; No static pressure change across rotor

Va Vrz
V2

U

Vri=Vrz

(3) When R=0.5; 1 = 2, = 1; Impulse TM; 50% by impulse and 50% by reaction,
Symmetrical velocity triangle; 1 =2, 2 =1

o) R=0.5 |
Va

VWa=Vr2 ; VWa=\r1

(4) When R=1; 1 = 5; purely reaction TM; energy transformation occurs purely due to change in
relative K.E of fluid




(5) When > 1.0; 2 > 1;energy transformation can be negative or positive

{w} R>1.0

Turbines- Utilization factor
1. Utilization factor is defined only for PGTM- Turbines
2. Adiabatic efficiency is the quantity of interest in turbines
3. Overall efficiency is product of adiabatic efficiency and Mechanical efficiency
4. Mechanical efficiency of majority of TM’s is nearly 100%
5. Therefore, overall efficiency is almost equal to adiabatic efficiency

6. However, adiabatic efficiency is product of utilization factor (diagram energy that can be
obtained from a turbineefficiency) and efficiency associated with various losses

7. Utilization factor deals with what is maximumobtained from a turbine without considering the
losses in the turbine

8. Utilization factor is the ratio of ideal workfor conversion to work

9. Under ideal conditions it should be possible to utilize all the K.E. at inlet and increase the
K.E. due to reaction effect

10. The ideal energy available for conversion into work

2 2 2 2 2]
W = [V1 * (U1 -U, )_ (Vn Vs )]
. 2
11. The work output given by Euler’s Turbine Equation is

W= l(V,2 = V22 )'*' (U12 = U22 )_ (V,.,2 = Vr22 )]

2 : 2
12. Utilization factor is given by

w_[vz-v)lvi-u2)-v,2-v,2)

)_
w, _V,2 EJ (U12 - U22 )“ (Vn2 - Vr22 )J




13. Utilization factor for modern TM’s is between 90% to 95%
Relation between utilization factor and degree of reaction
Utilization factor is given by

£= w - l(vf = V22 )+ (U12 = U22 )_ (vr12 = Vc22 H
Wa lv12 + (U12 = U22 )‘ (Vnz = Vr22 )J

The degree of reaction is given by

ao. U2-u2-2-v.?) _(b2-ul)-,-v,)
(V,z—V22)+(U,2—U22)—(Vr,2—v,22) 2xE
X= (U12 = U22 )‘“ (V,,‘? = Vrzz)
X
i T
X = R(sz‘ sz)
1-R

Substituting the value of X in the expression for utilization factor andsimplifying

. (V; ¥ V222)
V,*~RV,’)

The above equation is valid for single rotor under the conditions where Euler’s turbine equations are
valid. The above equation is invalid when R = 1. The above equation is valid in the following range of
R=0<R<1.

Maximum Utilization factor
Utilization factor is given by
v 2 2
_ w2-v?)
= 2 2
v.?-RV,?)

Utilization factor maximum if the exit absolute velocity is minimum. This ispossible when the exit
absolute velocity is in axial direction

&

Vi rz



V,=V,sina,
_ V7?-V/sina,
" V,2-RV/sin’a,

_ cos’a,
" 1-Rsin‘a,
Maximum utilization factor is given by
2
60s-a, e, =1 when a,=0

™" 1-Rsin‘a,

Maximum Utilization factor for impulse turbine
For an impulse turbine R = 0,thus = 2x 4
From the velocity triangles OAB and OBD aresimilar.

Thus AB=U

1is made as small as possible(15° 20°)
Maximum Utilization factor for 50% reaction turbines

50% reaction turbines have; 1 = 22 = 1; 1 = 2; 2 = 1and for maximum utilization » must be in axial
direction. The corresponding velocity triangles are

Q:
V,cosa,=U+U=2U Vi V2
U cosa, : r 2
—=——"1- Speed Ratio=
v, 2 & ? A
] U
_ cos?a, 2V
" 1-Rsin‘a,
2 V2
B=liE, woe i v
1-0.5sIn"qa,
Also, V,cosa,=U = B2
U

VE =cosa, =@ =speed ratio

1



Comparison between Impulse and 50%reaction turbinemaximum utilization
(&) When both have same blade speed
Let Ul and UR be the blade speeds of impulse and 50% reaction turbines. The velocity triangles for

maximum utilization are

Vi Vrz
[ &

Un U
E = U1 vu1
From velocity triangle V,, =2U,
E =2U%-—-1
For 50% reaction turbine
E g~ Unvm
But V,=U,
E,=U,S’-——-2

Comparing eg. 1 and 2, it is clear that impulse turbine of energy per unit mass than 50% reaction
turbine utilization is maximum.

| However, 50% reaction turbines are more efficient than impulse turbines
| But 50% reaction turbines transfer half the en turbines.

I If only 50% reaction turbines are used more stages are required or if only impulse turbines are
used stages are less but efficiency is low

I In steam turbines where large pressure ratio is available it is common to use one or two
impulse stages followed by reaction stages



Module: 3

STEAM TURBINES

Introduction:

Steam turbines use the steam as a working fluid. In steam turbines, high pressure steam from the
boiler is expanded in nozzle, in which the enthalpy of steam being converted into kinetic energy.
Thus, the steam at high velocity at the exit of nozzle impinges over the moving blades (rotor) which
cause to change the flow direction of steam and thus cause a tangential force on the rotor blades. Due
to this dynamic action between the rotor and the

Nozzle Nozzle
;: )
8 5.
23 £4 ||z
~ a o 2
r'Y H s v o
Boiler ‘ 7'} [l e —z
pressure 3 Exit Boiler \_/ Exit
velocity pressure i ‘Lel«)cnty'
Condenser i \-\ ) 2
Inlet —1 & Inlet —ly = ondenser
velocity v Pressure  velocity w 5 ¥ pressure
Fig.1 Impulse turbine Fig.2 Reaction turbine

steam, thus the work is developed. These machines may be of axial or radial flow type devices.
Steam turbines may be of two kinds, namely, (i) impulse turbine and (ii) Reaction turbine.

In Impulse turbine, the whole enthalpy drop (pressure drop) occurs in the nozzle itself. Hence pressure
remains constant when the fluids pass over the rotor blades. Fig.1 shows the schematic diagram of
Impulse turbine.

In Reaction turbines, in addition to the pressure drop in the nozzle there will also be pressure drop
occur when the fluid passes over the rotor blades.
Most of the steam turbine is of axial flow type devices except Ljungstrom turbine which is a radial

type.
Compounding of Steam Turbines:

If only one stage, comprising of single nozzle and single row of moving blades, isused, then the flow
energy or kinetic energy available at inlet of machine is not absorbedfully by one row of moving
blades running at half of absolute velocity of steam entering the stage (because, even for maximum
utilization, U/V = @ = 1/2). It means to say that, due to high rotational speed all the available energy
at inlet of machine is not utilized which being simply wasted at exit of machine. Also we know that
for maximum utilization, exit velocity of steam should be minimum or negligible. Hence, for better
utilization, one has to have a reasonable tangential speed of rotor. In order to achieve this, we have to
use, two or more rows of moving blades with a row of stationary blades between every pair of them.
Now, the total energy of steam available at inlet of machine can be absorbed by all the rows in
succession until the kinetic energy of steam at the end of the last row becomesnegligible.

Hence Compounding can be defined "as the method of obtaining reasonable tangential speed
of rotor for a given overall pressure drop by using more than one stage™

Compounding is necessary for steam turbines because if the tangential blades tip velocity
greater than 400 m/s, then the blade tips are subjected to centrifugal stress. Due this, utilization is low
hence the efficiency of the stage is also low. Compounding can be done by the following methods,
namely, (i) Velocity compounding, (ii) Pressure compounding or Rateau stage (iii) Pressure-Velocity
compounding and (iv) Impulse- Reaction staging.



1. Velocity Compounding (Curtis Stage) of Impulse Turbine :

This consists of set of nozzles, rows of moving blades (rotor) &a row of stationary blades
(stator). Fig.3 shows the corresponding velocity compounding Impulse Turbine.

The function of stationary blades is to direct the steam coming from the first moving row to the next
moving row without appreciable change in velocity. All the kinetic energyavailable at the nozzle exit
is successively absorbed by all the moving rows&the steam is sent from the last moving row with low
velocity to achieve high utilization. The turbine works under this type of compounding stage is called
velocity compounded turbine.E.g.Curtis stage steam turbine

2. Pressure Compounded (Rateau Stage ) Impulse Turbine :

A number of simple impulse stages arranged in series is called as pressure compounding. In this
case, the turbine is provided with rows of fixed blades which actas a nozzle at the entry of each rows
of moving blades. The total pressure drop of steam does not take place in a single nozzle but divided
among all the rows of fixed blades which act as nozzle for the next moving rows. Fig.4 shows the
corresponding pressure compounding Impulse turbine.

Pressure compounding leads to higher efficiencies because very high flow velocities are avoided
through the use of purely convergent nozzles. For maximum utilization, the absolute

velocity of steam at the outlet of the last rotor must be axially directed. It is usual in large turbines to
have pressure compounded or reaction stages after the velocity compounded stage.

T - '
gi.@i 11 11 MB=Moving blades & i velocity
z < " " 1 7
::m: i 11 FB=Fixed blades Boiler
Boiler Y pressure
' [P
pressure = ! ¢ =
. i AR Exit . velocity
Lo o ey velocity lnlct/- 4 4 \
/ T2 PN velocity N Condenser
Inlet ~ | |-=|| Condenser —~ pressure
velocity ﬁ ; pressure ﬂ i~
™ 1A
AEIR

Fig.4 Pressure compounded

Fig.3 Velocity compounded : :
& : p impulse turbine

impulse turbine

3. Pressure -Velocity Compounding:

In this method, high rotor speeds are reduced without sacrificing the efficiency or the output.
Pressure drop from the chest pressure to the condenser pressure occurs at two stages. This type of
arrangement is very popular due to simple construction as compared to pressure compounding steam
turbine.

Pressure-Velocity compounding arrangement for two stages is as shown in Fig.5. First and second
stage taken separately are identical to a velocity compounding consists of a set of nozzles and rows of
moving blades fixed to the shaft and rows of fixed blades to casing. The entire expansion takes place
in the nozzles. The high velocity steam parts with only portion of the kinetic energy in the first set of
the moving blades and then passed on to fixed blades where only change in direction of jet takes place
without appreciable loss in velocity. This jet then passes on to another set of moving vanes where
further drop in kinetic energy occurs. This type of turbine is also called CurtisTurbine.
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4. Impulse- Reaction Turbine:

Boiler
Pressure

MB = Moving blades

SB = Stationary blades

Pressure

Velocity

Steam Inlet
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‘ Condenser Pressure
‘ 1

| |

Movi
Steam Qutlet
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Fig.6 Impulse Reaction turbine

In this type of turbine there is application of both principles namely impulse and reaction.

This type of turbine is shown in Fig.6. The fixed blades in this arrangement corresponding to the
nozzles referred in the impulse turbine. Instead of a set of nozzles, steam is admitted for whole of the
circumference. In passing through the first row of fixed blades, the steam undergoes a small drop in
pressure and its velocity increases. Steam then enters the first row of moving blades as the case in
impulse turbine it suffers a change in direction and therefore momentum. This gives an impulse to the
blades. The pressure drop during this gives rise to reaction in the direction opposite to that of added

velocity. Thus the driving force is vector summation of impulse and reaction.

Normally this turbine is known as Reaction turbine. The steam velocity in this typeof turbine is
comparatively low, the maximum being about equal to blade velocity. This type of turbine is very

successful in practice. It is also called as Parson's Reaction turbine.

Condition for Maximum Utilization Factor or Blade efficiency with Equiangular Blades for

Impulse Turbine:

Condition for maximum utilization factor or blade efficiency with equiangular blades for Impulse
turbine and the influence of blade efficiency on the steam speed in a single stage Impulse turbine can
be obtained by considering corresponding velocity diagrams as shown in Fig.9. Due to the effect of

blade friction loss, the relative velocity at outlet is reduced than the



relative velocity at inlet. Therefore,Vr2 = CbVrl , corresponding to this condition, velocity triangles
(qualitative only) are drawn as shown in figure.

W * [, (S G 1.5,

v T

—

From velocity triangle :

- s V2 cosl32

Vi1 cospi



But V, cos}; =V cosa,-U
L AV =(V, cosa, -U)[1+(V/V, )cosf, / cosf,)]

V
Bu —2_ , and for agiven rotor, i, & fip are alsofixed. Let K=°°5ﬂ2
Va COSﬁl

. AV =(V, cosq, -U)[1+C K]

. Work done per kg of steam 1,

W=U(V, cosq, -U)[ 1-GK] (5)
Ifweexpress mtermsof speedratio, = U/V,, weget
2

2
The available energy per kgof steam at inlet is V| /2g,

2 ¢
Also, blade efficiency, 1, = ’“' _ 24V, [cosa, -$](1+C, K)
V" /2g, v12
2
Ty = 2(¢Cosa, - 1(1+C, K) (7)

Eqn(7) shows that the rotor efficiency or blade efficiency varies parabolically for
thegiven a;, G and K.

For the maximum blade clﬁcicncy,g—:b--_- 0
~. Speedratio, ¢ =%’ (8)

It is same as the maximum utilization for an impulse wrbine discused in chapter-2.
Themaximum blade efficiency becomes

2 2
E s 2(“’,s %i- “;S “‘l)l—cb K)

2
1 =51 (1+C K) 9)

b, mx Z

Further, if rotor angles are equiangular e, B, = f,and V,, =V,
2

Then, 1y oy cos (10)
It is seen that the 1y, . 15 sametheasmaximum utilization for Impulse turbine
when there isno lossand blades are equiangular.




Analysis on Two Stages:

Condition of Maximum Efficiency for Velocity Compounded Impulse Turbine (Curtis
Turbine)

” \Vy .

It Stage

: Vi

Vi \ Vo )
2 Vi

» 42 @) § ¥ <

Vi U
e U
2nd [Spaoe

Individual Velocity

AWV tnangle Stator

A

Vi V3
Via=Vay Vi Va
ay - 9 o fgp VW
oo

Combined Velocity triangle

Note: Velocity tnangles are not to the scale.

The velocity triangles for first stage and second stage of a Curtis turbine are as shown In
above figure. The speed and the angles should be so selected that the final absolute velocity of steam
leaving the second row is axial, so as to obtain maximum efficiency. The tangential speed of blade
for both the rows is same since all the moving blades are mounted on the same shaft.

In the first row of moving blades, the work done per kg of steam is, W1
=U (Vul +Vu2)/gc =UVul/gc

From I stage velocity triangle, we get, W1 =U (Vrlcosp +Vr2cos)/g If f1= B2 and Vrl = Vr2, then,
W1 =2U (Vrlcos 1) /g

W;1=2U (Vicosaz - U) /g
The magnitude of the absolute velocity of steam leaving the first row is same as the velocity of steam
entering the second row of moving blades, if there is no frictional loss (i.e.,V2 =V3) but only the
direction is going to be changed.
In the second moving row, work done per kg of steam is,
W2 =U Vu2/g=U (Vr3cos B3 + Vrdcos ) /g
Again if 3= P4 and V13 = Vr4
W2 =2U (Vr3cos 3) /g
W2=2U (V3 cosa3 - U) /g

If no loss in absolute velocity of steam entering from I rotor to the II rotor, then V3= V2 & a3 = a2



W2=2U (V2 cosa2 - U) /g
Also, V2 cosa2 = Vr2cos f2-U= Vrlcospl - U. (Vrl =Vr2 & Bl =p2)
V2 cosa2 = (V1 cosa2 - U) -U (Vrlcos Bl =V1 cosal - U)
V2 cosa2 = V1 cosal -2U
W2 =2U (Vlcos al - 3U) /g
Total Work done per kg of steam from both the stages is given by
WT =W1 +W2 =2U [V1 cosal - 3U+ V1 cosal - U]/g
WT =2U [2V1 cosal- 4U]/g
WT =4U [V1 cosal- 2U]/g
In general form, the above equation can be expressed as,
W=2nU/[VI1 cosal - nU]/g
Where, n = number of stages.
Then the blade efficiency is given by,

oNy/00 =8 [cosa, - 20] = cosa, - 4h=0

cosaL o
o= =U/V
4 1

And work done in the last row =1/2" of total work

V1 =Absolute velocity of steam entering the first rotor or steam velocity at the exit of the
nozzle, m/s.

al= Nozzle angle with respect to wheel plane or tangential blade speed at inlet to the first rotor,
degrees.

Vrl = Relative velocity of fluid at inlet of | stage, m/s.

B1= Rotor or blade angle at inlet of 1 rotor made byV, degree Vr2
= Relative velocity of fluid at outlet of | stage.

2= Rotor or blade angle at outlet of I rotor made degree

V2 =Absolute velocity of steam leaving the I rotor or stage, m/s 02=
Exit angle of steam made by V2, degree

V3 = Absolute velocity of steam entering the 2 rotor or exit velocity of the steam from the stator
m/s.

a3= Exit angle of stator for 2 rotor, degree



Module: 4
HYDRAULIC TURBINES
Introduction:

Hydraulic (water) turbines are the machines which convert the water energy (Hydro power)
into Mechanical energy. The water energy may be either in the form of potential energy as we find in
dams, reservoirs, or in the form of kinetic energy in flowing water. The shaft of the turbine directly
coupled to the electric generator which converts mechanical energy in to electrical energy. This is
known as “Hydro-Electric power".

Classification of Hydraulic Turbines:

Water turbines are classified into various kinds according to i) the action of water on blades,
ii) based on the direction of fluid flow through the runner and iii) the specific speed of the machine.

(i)Based on a Francis turbine Action of Water on Blades:

These may be classified into:1) Impulse type and 2) Reaction type

In impulse turbine, the pressure of the flowing fluid over the runner is constant andgenerally equal
to an atmospheric pressure. All the available potential energy at inlet willoe completely converted into
which in turn utilized through apurely impulse effect to produce work. Therefore, in impulse turbine,
the available energyat the inlet of a turbine is only the Kkinetic energy.

In reaction turbine, the turbine casing is filled with water and the water pressurechanges during
flow through the rotor in addition to kinetic energy from nozzle (fixedblades).As a whole, both the
pressure and are available at the inlet ofreaction turbines for producing power.

(ii) Based on the direction of Flow of Fluid through Runner:
Hydraulic machines are classified into:

a) Tangential or peripheral flow

b) Radial inward or outward flow

c) Mixed or diagonal flow

d) Axial flow types.
a) Tangential Flow Machines:

In tangential flow turbines, the water flows along the tangent to the path of rotationof the
runner. Example:Pelton wheel
b) Radial Flow Machines:

In radial flow machine, the water flows along the radial direction and flow remains
normal to the axis of rotation as it passes through the runner. It may be inward flow or outward

flow.

In Inward flow turbines, the water enters at the outer periphery and passes through the runner
inwardly towards the axis of rotation and finally leaves at inner periphery.

Example: Francis turbine. In outward flow machines the flow direction is opposite to the inward
flow machines.

c) Mixed or Diagonal Flow:



In this type of turbine, the flow of fluid may enter at the outer periphery, passes over the
runner inwardly and leaves axially or parallel to the axis of rotation and vice-versa Examples:
Modern Francis turbine, Deriaz turbine d) Axial Flow Devices:

In this type of turbine, the water along the direction parallel to the axis of rotation.

Examples: Kaplan turbine, propeller turbine etc.
(iif) Based on Specific Speed:
Hydraulic turbines are classified into:

(a) Low Specific Speed: Which employs high head in the range of 200m up to 1700 m

This machine requires low discharge. Examples: Pelton wheel. NS = 10 to 30 single jet and
30 to 50 for double jet Pelton wheel.

(b) Medium Specific Speed: Which employs moderate heads in the range of 50m to 200
m. Example: Francis turbine, NS = 60 to 400.
(c) High Specific Speed: Which employs very low heads in the range of 2.5mto 50 m
These require high discharge. Examples: Kaplan, Propeller etc., N = 300 to 1000
PeltonWheel:

This is a impulse type of tangential flow hydraulic turbine. It mainly posses: (i) Nozzle (ii) runner and
buckets (iii) casing (iv) Brake nozzle. Fig. 1 shows general layout of hydro-electric power plant with
pelton wheel.

The water from the dam is made to flow through the penstock. At the end of the penstock, nozzle is
fitted which convert the potential energy into high kinetic energy. The speed of the jet issuing from
the nozzle can be regulated by operating the spear head by varying the flow area. The high velocity of
jet impinging over the buckets due to which the runner starts rotating because of the impulse effects
and thereby hydraulic energy is converted into mechanical energy. After the runner, the water falls
into tail race. Casing will provide the housing for runner and is open to atmosphere. Brake nozzles are
used to bring the runner from high speed to rest condition whenever it is to be stopped. In order to
achieve this water is made to flow in opposite direction to that of runner.
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Fig.1 Layout of Hydro-electric power plant
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Heads and Efficiencies of Hydraulic Turbines:
Hydraulic Heads:

(&) Gross head: It is the difference between the head race and tail race level when there is no
flow. As such it is termed as static head and is denoted as HS or Hg.

(b) Effective head: It is the head available at the inlet of the turbine. It is obtained byconsidering
all head losses in penstock. If h is the total loss, then the effectiveheadabove the turbine is H=
Hg - hf
Efficiencies:
Various efficiencies of hydraulic turbines are:
I) Hydraulic efficiency (nH) ii) volumetric efficiency (nVol)
iii) Mechanical efficiency (nmech) IV) Overall efficiency (nO)

IV)Overall efficiency ( ):It is the ratio of shaft output power by the turbine to the water power
available at inlet of the turbine

E— Inlet
—— | shaft output
(] Turbine IXI Generator
x

—— Ny — > ¢—Npecn > It L= l

< n >




Work Done by the Pelton Wheel:

|‘

-

Nozzle

)
f— U — V.
Fig 3 Shape of bucket & Velocity diagram
Where 0 is the angle through which the jet is deflected by the bucket. B, is the
runner tipangle = 180-0,
Fig. 3 shows the inletand outlet velocity triangles. Since the angle of entrance of jetis

zero, the inlet velocity triangle collapses to a straight line. The tangential component of
absolute velocity atinlet V=V, and the relative velocity attheinlet sV, =V, -U.

From the outlet velocity A",
Vo=V,c0sB,-U
=CyVncos B-U (. Va=GVya)
Vo= (V;-U)CycosP,-U . Va=V;-U)

Work done /kgofwater by the runner
W=U(V,,+V,,)/g.  (+vesignforoppositedirectionof V_ andV_,)
=UVy +(V; -U)GyeosB-U)/ g
=U[(V, -UM(V,-U)CyecosB,]/ &

W=U[(V,~U)(14C, cos B, )]/ &, (6)
The energy suppliedto the wheel is in the form of kinetic energy of the jet which isequal to
2
v, 2g.

s sk, e sy = S L -1 confl Bg;

Vi /2, Vi,

2U(V,-U)1 sp,
0, = (V;-UN ,*wa“ﬁ,) ™

Vi




For maximum hydraulic e fficiency, % =0

2
APy, v, -2u-0
Vi
Vy=2U or ¢=UN, =05
u=Y% v,=0sv, (7.8)
This shows that the tangential velocity of bucket shoud be half of the velocity of
jet formaximum efficiency.

Then,
n _ZU (QU-UN I+Chcos$1)

118
- eu)’

n 1GoosB, (9)

ooms 2

as

IfC, = 1,then the above equation gives the maximum efficiency for i, ~ 0
5.1 Working Proportions of Pelton Wheel :
(i) Tdeal velocity of jet from the Nozzle, V, - 22T (10)
& Actual velocity of jet,V, = C_2gH
C, = coefficient of velocity for nozzleis intherange of 0,97 to 0.99
(ii) Tangential velocity of buckets,

U =¢ VIgH = ¢ = UA2gH ), (n
Where ¢ = Speed ratio and is in the range of 0.43 0 0.48
(i) Least diameter ofthe jet, (d), 3
Total discharge, @, ~n 5% v, = 28 C, VT (12)

Where n =number of jets (nozzles)
(iv) Mean Diameter or Pitch diameter of Buckets orRunner:(D)

: 2 =zDN U.60
Tangential velocity, U = ) or D= N (13)

(v) Number of Buckets required (Z):
The ratio of mean diameter of buckets w the diameter of jet i known as
"Jet Ratio”. i.e, m=Did.

z-%+ 15~ +15 where m ranges from 61035, (14)

2d



Reaction Turbine:

In reaction turbines, only part of total head of water at inlet is converted intovelocity head before it
enters the runner and the remaining part of total head is converted in the runner as the water flows
over it. In these machines, the water is completely filled in all the passages of runner. Thus, the
pressure of water gradually changes as it passes through the runner. Hence, for this kind of machines
both pressure energy and kinetic energy are available at inlet. E.g. Francis turbine, Kaplan turbines,
Deriaz turbine.

Scroll

casing

Guide vane

Runner
Draft tube
Tail race

Scroll
L casing

Runner

— Link

Guide vane

Guide wheel

Fig. 4 Francis turbine

Francis turbine which is of mixed flow type is as shown in Fig. 4. It is of inward flow type of
turbine in which the water enters the runner radially at the outer periphery and leaves axially at its
center.

This turbine consists of: (i) Scrollcasing (ii) Stayring (iii) Guidevanes (iv) Runner (v) Draft
tube.

(i) Scroll Casing: The water from penstock enters the scroll casing (called spiral casing) which
completely surrounds the runner. The main function of spiral casing is to provide an uniform
distribution of water around the runner and hence to provide constant velocity. In order to provide
constant velocity, the cross sectional area of the casing gradually decreses as the water reaching
runner

(if) Stay ring: The water from scroll casing enters the speed vane or stay ring. These are fixed blades
and usually half in number of the guide vanes. Their function is to (a)direct the water over the guide
vanes, (b) resist the load on turbine due to internal

pressure of water and these loads is transmitted to

the foundation.



(iif) Guide Vanes: Water after the stay ring passes over to the series of guide vanes or fixed vanes.
They surrounds completely around the turbine runner. Guide vanes functions are to (a) regulate the
quantity of water entering the runner and (b) direct the water on to the runner.

(iv) Runner: The main purpose of the other components is to lead the water to the runner with
minimum loss of energy. The runner of turbine is consists of series of curved blades (16 to 24) evenly
arranged around the circumference in the space between the two plate. The vanes are so shaped that
water enters the runner radially at outer periphery and leaves it axially at its center. The change in
direction of flow from radial to axial when passes over the runner causes the appreciable change in
circumferential force which in turn responsible to develop power.

(v) Draft Tube: The water from the runner flows to the tail race through the draft tube. Adraft is a
pipe or passage of gradually increasing area which connect the exit of the runner to the tail race. It
may be made of cast or plate steel or concrete. The exit end of the draft tube is always submerged
below the level of water in the tail race and must be air-tight.

The draft tube has two purposes:

(@) It permits a negative or suction head established at the runner exit, thus making it possible to
install the turbine above the tail race level without loss of head.

(b) It converts large proportion of velocity energy rejected from the runner into useful pressure
energy

Draft Tubes:

There are different types of draft tubes which are employed to serve the purpose inthe
installation of turbine are as shown in Fig.5. It has been observed that for straightdivergent type draft
tube, the central cone angle should not be more than 8.This isbecause, if this angle is more than 8 the
water flowing through the draft tube withoutcontacting its inner surface which results in eddies and
hence the efficiency of the drafttube is reduced.

l H,
- Tail race

-’-_/m\_:-

(a) Conical draft (b) Simple elbow  {¢) Moody Spreading
tube tube ‘ tube
U " H, Tail race
\ —_-_'_: 2
N o | |

(d) Dmaft tube with circular inlet and rectangular outlet

Fig.5. Types of draft tubes

(a) Straight divergent conical tube
(b) Moody spreading tube (or Hydra cone)
(c) Simple elbow tube

(d) Elbow tube having circular cross section at inlet and rectangular cross section at outlet.



Work Done and Efficiencies of FrancisTurbine:

Inlet Inlet

[— v,—

|V,

(8) WhenV, > U, (b) FWhen U, > V_,
| or f; <9%0° or i, =90°
.' Outlet velocity triangle
J
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Radial discharge
ie., V, = Vp
UyjaD; & a,=90°
U,a D, W Vu: 0

Vo 70 "_l"';_ﬂ

Fig.6 Velocity triangles for different conditions

The absolute velocity at exit leaves the runner such that there is no whirl at exit i.e.
Vu2 = 0. The Inlet velocity triangle are drawn for different conditions as shown in Fig 6
() &(b).
Propeller & Kaplan Turbines:

The propeller turbine consists of an axial flow runner with 4 to 6 blades of aerofoilshape. The
spiral casing and guide blades are similar to that of the Francis turbines. In the propeller turbines, the
blades mounted on the runner are fixed and non-adjustable. But in Kaplan turbine the blades can be
adjusted and can rotate about the pivots fixed to the boss of the runner. This is only the modification
in propeller turbine. The blades are adjusted automatically by a servomechanism so that at all loads
the flow enters without shock.

The Kaplan turbine is an axial flow reaction turbine in which the flow is parallel tothe axis of
the shaft as shown in the Fig. This is mainly used for large quantity of water and for very low heads
(4-70 m) for which the specific speed is high. The runner of the Kaplan turbine looks like a propeller
of a ship. Therefore sometimes it is also called as propeller turbine. At the exit of the Kaplan turbine
the draft tube is connected to discharge water to the tail race.
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1) At inlet, the velocity ~ 'is as shown in below Fig

2) At the outlet, the discharge is always axial with no whirl velocity component i.e., outlet
velocity triangle just a right angle triangle as shown below Fig.

Inlet

Uit




Module -5
CENTRIFUGAL PUMPS

Classification and parts of centrifugal pump:
Rotodynamic Pumps

A rotodynamic pump is a device where mechanical energy is transferred from the rotor to the
fluid by the principle of fluid motion through it. The energy of the fluid can be sensed from the
pressure and velocity of the fluid at the delivery end of the pump. Therefore, it is essentially a turbine
in reverse. Like turbines, pumps are classified according to the main direction of fluid path through
them like (i) radial flow or centrifugal, (ii) axial flow and (iii) mixed flow types.

Centrifugal Pumps

The pumps employing centrifugal effects for increasing fluid pressure have been in use for more than
a century. The centrifugal pump, by its principle, is converse of the Francis turbine. The flow is
radically outward, and the hence the fluid gains in centrifugal head while flowing through it. Because
of certain inherent advantages, such as compactness, smooth and uniform flow, low initial cost and
high efficiency even at low heads, centrifugal pumps are used in almost all pumping systems.
However, before considering the operation of a pump in detail, a general pumping system is discussed
as follows.

Differentheads and efficiencies of centrifugal pump:
The word pumping, referred to a hydraulic system commonly implies to convey liquid from a
low to a high reservoir. Such a pumping system, in general, is shown in Fig. 33.1. At any point in the

system, the elevation or potential head is measured from a fixed reference datum line. The total head
at any point comprises pressure head, velocity head and elevation

head. For the lower reservoir, the total head at the free surface is Hy and is equal to the elevation of
the free surface above the datum line since the velocity and static pressure

at A are zero. Similarly the total head at the free surface in the higher reservoir is ( Ha+is ) and is
equal to the elevation of the free surface of the reservoir above the reference datum.

The variation of total head as the liquid flows through g:e system is shown in Fig. 33.2. The
3ol

liquid enters the intake pipe causing a head loss for which the total energy line drops to point B
corresponding to a location just after the entrance to intake pipe. The total head at B can be written as

Hp=Hy-hy,

As the fluid flows from the intake to the inlet flange of the pump at elevation “1 the total head drops
further to the point C (Figure 33.2) due to pipe friction and other losses equivalent

h
to & . The fluid then enters the pump and gains energy imparted by the moving rotor of the pump.
This raises the total head of the fluid to a point D (Figure 33.2) at the pump outlet (Figure 33.1).

In course of flow from the pump outlet to the upper reservoir, friction and other losses



account for a total head loss or kf 2 down to a point E. At E an exit loss ke occurs when the liquid
enters the upper reservoir, bringing the total heat at point F (Figure 33.2) to that at the free surface of
the upper reservoir. If the total heads are measured at the inlet and outlet flanges respectively, as done
in a standard pump test, then

o
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Reference datum v

Fig. A general pumping system

Change of head in a pumping system

2
Total inlet head to the pump = (7 +og)+ (7" 12g)+7

2
Total outlet head of the pump = (P2 +p2)+(7 128)+2;

where “ and V3 are the velocities in suction and delivery pipes respectively.

Therefore, the total head developed by the pump,

H=[@y-n)l oghtl0F -V 2l (e 2]

The head developed H is termed as manometrichead . If the pipes connected to inlet and

outlet of the pump are of same diameter, va=¥ and therefore the head developed or manometric
head H is simply the gain in piezometric pressure head across the pump which could have been
recorded by a manometer connected between the inlet and outlet flanges of

the pump. In practice, ( “2 ~ 1) is so small in comparison to (P2-2) 02 hatitis ignored. It is
therefore not surprising o find that the static pressure head across the pump is often used to describe
the total head developed by the pump. The vertical distance between the two

levels in the reservoirs Hy is known as static head or static lift. Relationship between Hy , the static
head and H , the head developed can be found out by applying Bernoulli's equation between A and C
and between D and F (Figure 33.1) as follows:



2 W
0+0+H g =L+ Ltz +hy, +hg
og g

Between D and F ,

72
P2 472 4z =040+ 4H, +H g +hpy i,
oz 2g

substituting 4 from Eqg. (33.2) into Eg. (33.3), and then with the help of Eq. (33.1),

we can write

H= HS +hm +33f1 +hf2 +he

=H,+73 losses

Therefore, we have, the total head developed by the pump = static head + sum of all the losses.

The simplest form of a centrifugal pump is shown in Figure. It consists of three important parts: (i)
the rotor, usually called as impeller, (ii) the volute casing and (iii) the diffuser ring. The impeller is a
rotating solid disc with curved blades standing out vertically from the face of the disc. The impeller
may be single sided double sided A double sided impeller has a relatively small flow capacity.

Stationary
diffuser vanes

! NN ///
—_ Impeller > — /
\\\ 3% = ol \\\ /”

Without diffuser Volute With diffuser

e s SO

centrifugal pump

The tips of the blades are sometimes covered by another flat disc to give shrouded blades otherwise
the blade tips are left open and the casing of the pump itself forms the solid outer

wall of the blade passages. The advantage of the shrouded blade is that flow is prevented from leaking
across the blade tips from one passage to another

Depth of

Impeller shroud
..\




(a) Single sided impeller (b) Double sided impeller (c) Shrouded impeller Figure 33.4
Types of impellers in a centrifugal pump

As the impeller rotates, the fluid is drawn into the blade passage at the impeller eye, the centre of the
impeller. The inlet pipe is axial and therefore fluid enters the impeller with very little whirl or
tangential component of velocity and flows outwards in the direction of the blades. The fluid receives
energy from the impeller while flowing through it and is discharged with increased pressure and
velocity into the casing. To convert the kinetic energy or fluid at the impeller outlet gradually into
pressure energy, diffuser blades mounted on a diffuser ring are used.

The stationary blade passages so formed have an increasing cross-sectional area which reduces the
flow velocity and hence increases the static pressure of the fluid. Finally, the fluid moves from the
diffuser blades into the volute casing which is a passage of gradually increasing cross-section and also
serves to reduce the velocity of fluid and to convert some of the velocity head into static head.
Sometimes pumps have only volute casing without any diffuser.

Figure shows an impeller of a centrifugal pump with the velocity triangles drawn at inlet and outlet.
The blades are curved between the inlet and outlet radius. A particle of fluid moves along the broken
curve shown in Figure

Velocity triangles for centrifugal pump Impeller
Let A be the angle made by the blade at inlet, with the tangent to the inlet radius, while 2
is the blade angle with the tangent at outlet. “ and £ are the absolute velocities of fluid at

7 7
inlet an outlet respectively, while 1 and "2 are the relative velocities (with respect to blade

velocity) at inlet and outlet respectively. Therefore,



Work done on the fluid per unit weight = Ww2lz —Vnlh)/ g

A centrifugal pump rarely has any sort of guide vanes at inlet. The fluid therefore approaches the
impeller without appreciable whirl and so the inlet angle of the blades is designed to produce a right-
angled velocity triangle at inlet (as shown in Fig. 34.1). At conditions other

than those for which the impeller was designed, the direction of relative velocity Vs does not coincide
with that of a blade. Consequently, the fluid changes direction abruptly on entering the impeller. In
addition, the eddies give rise to some back flow into the inlet pipe, thus causing fluid to have some
whirl before entering the impeller. However, considering the

operation under design conditions, the inlet whirl velocity Vi and accordingly the inlet

angular momentum of the fluid entering the impeller is set to zero. Therefore, Eqg. (34.1) can be
written as

Work done on the fluid per unit weight = Vnlale

We see from this equation that the work done is independent of the inlet radius. The difference in total

head across the pump known as manometric head, is always less than the

guantity Vwrlalg because of the energy dissipated in eddies due to friction.

The ratio of manometric head Hand the work head imparted by the rotor on the

fluid Vwalnlg (usually known as Euler head) is termed as manometricefficiency m 1t represents
the effectiveness of the pump in increasing the total energy of the fluid from the energy given to it by
the impeller. Therefore, we can write

gH
Vw2l

Mm =

The overall efficiency 0 ofa pump is defined as

_ PPef
P

where, Q is the volume flow rate of the fluid through the pump, and P is the shaft power, i.e.

0

the input power to the shaft. The energy required at the shaft exceeds Vwrlalg because of friction
in the bearings and other mechanical parts. Thus a mechanical efficiency is defined as

_ POV Uy
Tmech = T

So that

70 = Tm XMTmech



Cavitation

If the pressure at any point in a suction side of centrifugal pump falls below the
wapor pressure, then the water starts boiling forming saturated vapor bubbles. Thus,formed
bubbles moves at very high velocity to the more pressure side of the impeller blade, and
strikes the surface of the blade and collapse there. In this way, as the pressure still further
decreases, more bubbles will be formed and collapses on the surface of the blade,
physically enables to erosion and pitting, forming a cavities on blades. This process takes
place many thousand imes in a second and damages the blade of acentnnfugal pump. This
phenomenon is known as Cavitatfion.

Net Positive Suction Head (NPSH)

Net Positive Suction Head (INPSH) 1s the head required at the pump inlet to keep the
water from cavitating or boiling. The cavitation 1s likely to occur on suction side of the
pump asthe lowest pressure can existin thisregion. The NPSHis defined as,

2
Ps Vs Pya
NPSH=—X + — —12P
(254 = re

Where Vi isthe velocity of the waterin such on side, poand Pyap &1c the pressurc attheinlet

andthe vapour pressure in absolute units. NPSHindicates the height of the pump axis from
‘he water surfaceinthe sumgp to whichit can be installed 1o avoid cavitation problem.

Cawvitattion Factor or Thoma’s Cawvitattion Factor (o)

The cavitation Factor () 15 d=fined as the ratio of total inlet head above the vapour
sressure atthe suction side of the pump to thehead developedbythe pump.

o — Tctal head abovethe vapour pressure at thepump inlet

Headdeveloped by the pump

2
Therefore, 5 _ (pef p2) 4 (Vg /22) - pyay/Pe _ WPEH
H H,.

o

EBE¥ applying the Eernoulli s equation between the free surface of the waterin the sump
andthe pumpinlet.the cqn.(2.17) can also be writien as,

Haim -Hwap -Hsuet
H,.

Where H, 4, 15 the atmospheric pressure head in m, Hy, ), 15 the vapour pressure headin m.,
Hoyt1sthe sum of frictional loss Forthe such on pipe length (he) and elevation of centre ine
»fpump (h)from sump water free surtace.

S =

The cawitation factor (= )is constant in all geometnically stmil ar pamps under similar
Jdow conditions. IF the cavitati on factor( @ Jcalculated vsing eqn.(8.18) 1s greater than the
sntical cavitation factor (G, then the cavitation will not cccur. In order to obtan higher
7alue of G it is preferred toadopt lesser hy orlesser hp Theuse of G notonlyindicates
savitation incephon but alse denotes the stage of cavitation occurring in the machine.
Senerally the walue of © should be more than 0 04 in order to avoid cawviration otherwise,
cavitation occurs.

Precautions for Preventing the Cavitation
The following step s shouldbetaken into accountto prevent the cavitaton:

(i) the pressure of the fluidflow in any part of the system should not fall below the
wapour pressure. If the wateris the working fluid, the absoclutepressure head should
notbebeleow 2.5 m of water.

(1) the immpeller should be mads of better cavitation resistant matenals such as
aluminium bronze and staunless steel
Cavitation Effect
The following are the eff=cts of cavitaton
(Dthemetallic surfaces damagedandcavites are forrmmed on the imp ell er surface.

(Ii) considerable neise andvibration ar produced duesto the sudden collapse of vapour
bubble.




Need for priming

The action taken to stimulate an economy, usually during a recessionary period, through
government spending, and interest rate and tax reductions. The term "pump priming" is derived from
the operation of older pumps; a suction valve had to be primed with water so that the pump would
function properly. As with these pumps, pump priming assumes that the economy must be primed to
function properly once again. In this regard, government spending is assumed to stimulate private
spending, which in turn should lead to economic expansion.

Slip Factor

Under certain circumstances, the angle at which the fluid leaves the impeller may not be the same as
the actual blade angle. This is due to a phenomenon known as fluid slip, which

finally results in a reduction in V2 the tangential component of fluid velocity at impeller outlet. One
possible explanation for slip is given as follows.

In course of flow through the impeller passage, there occurs a difference in pressure and velocity
between the leading and trailing faces of the impeller blades. On the leading face of a blade there is
relatively a high pressure and low velocity, while on the trailing face, the pressure is lower and hence
the velocity is higher. This results in a circulation around the blade and a non-uniform velocity
distribution at any radius. The mean direction of flow at

outlet, under this situation, changes from the blade angle at outlet 2 to a different angle &

as shown in Figure 34.2 Therefore the tangential velocity component at outlet V2 is
V2 o N . AV .

reduced to ~ W< | as shown by the velocity triangles in Figure 34.2, and the difference = ¥ is

ds

defined as the slip. The slip factor is defined as



CENTRIFUGAL COMPRESSORS
Introduction

Power absorbing Turbo machines used to handle compressible fluids like air, gases etc, can
be broadly classified into: (i) Fans (ii) Blowers and (iii) Compressors. These machinesproduce the
head (pressure) in the expense of mechanical energy input. The pressure rise incentrifugal type
machines are purely due to the centrifugal effects.

A fan usually consists of a single rotor with or without a stator. It causes only a smallpressure
rise as low as a few centimeters of water column. Generally it raises the pressure up to amaximum of
0.07 bar (70 cm WG). In the analysis of the fan, the fluid will be treated asincompressible as the
density change is very small due to small pressure rise. Fans are used forair circulation in buildings,
for ventilation, in automobiles in front of engine for cooling purposesetc.

Blower may consist of one or more stages of compression with its rotors mounted on
acommon shaft. The air is compressed in a series of successive stages and is passed through adiffuser
located near the exit to recover the pressure energy from the large kinetic energy. Theoverall pressure
rise may be in the range of 1.5 to 2.5 bars. Blowers are used in ventilation,power station, workshops
etc.

Compressor is used to produce large pressure rise ranging from 2.5 to 10 bar or more. Asingle
stage compressor can generally produce a pressure rise up to 4 bars. Since the velocities ofair flow are
quite high, the Mach number and compressibility effects may have to be taken intoaccount in
evaluating the stage performance of a compressor.

In general the centrifugal compressor may be known as a fan, blower, supercharger
etc,depending on the need to be served. Broadly speaking, fans are the low-pressure
compressors;blowers are the medium pressure compressors. It is therefore the analysis of one, say
centrifugalcompressor, will also holds good to the other machines like blower, fans.

Important Elements of a Centrifugal Compressor
Fig. shows the essential parts of a typical centrifugal compressor. It mainly consists of
(i) Inlet casing with the converging nozzle (ii) the impeller (iii) the diffuser and (iv) The outletcasing.
The function of the inlet casing with the conversant nozzle is to accelerate the enteringfluid to
the impeller inlet. The inlet nozzle accelerates the fluid from the initial condition (state 0)to the entry

of the Inlet Guide Vanes (IGV) which direct the flow in the desired direction at theinlet of the
impeller (state 1).



The impeller convert the supplied mechanical energy into fluid energy whereby the fluidkinetic
energy and the static pressure rises. An impeller is made of radial blades which arebrazed to the
shroud. It can be made from a single piece consisting of both the inducer and a

Largely radial portion. The inducer receives the flow between the hub and tip diameters (dh anddt ) of
the impeller eye and passes on to the radial portion of the impeller blades. The flowapproaching the
impeller may be with or without swirl. The inlet diameter 4.2 Important

Elements of a Centrifugal CompressorFig. show the essential parts of a typical centrifugal
compressor. It mainly consists of(i) inlet casing with the converging nozzle (ii) the impeller (iii) the
diffuser and (iv) the outletcasing.

The function of the inlet casing with the conversant nozzle is to accelerate the enteringfluid to
the impeller inlet. The inlet nozzle accelerates the fluid from the initial condition (state 0)to the entry
of the Inlet Guide Vanes (IGV) which direct the flow in the desired direction at theinlet of the
impeller (state 1).

The impeller convert the supplied mechanical energy into fluid energy whereby the
fluidkinetic energy and the static pressure rises. An impelbrazed to the shroud. It can be made from a
single piece consisting of both the inducer and alargely radial portion. The inducer receives the flow
between the hub and tip diameters (dhanddt) of the impeller eye and passes on to the radial portion of
the impeller blades. The flowapproaching the impeller may be with or without swirl.

Stage velocity triangles

Velocity Triangles at the Eye Hub and Tip
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In an ideal condition the fluid enters the eye section radially with no whirl component.The velocity of
flow remains constant from hub to tip of the eye. The tangential velocities of theimpeller at the hub
(root) and the tip of the eye are calculated based on the corresponding hub

and tip diameters of the eye respectively as shows in above figure the inlet velocity triangles at the
hub

and tip of the eye. The relative blade angle at the hub bh is slightly larger than that at the tip as shown
in Figure.
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The mass flow rate of the air entering the unpeller
eye can be calculated as
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Slip and Slip Co-efficient

In deriving the Euler’s equation, it was assumed that the velocities are constant (uniform)over the
cross sectional area. But in actual practice this assumption is not correct because thevelocities are not
constant over a cross sectional area as shown in Fig.

Due to uneven pressure distribution and hence the velocity distribution, head developedby the
machine is always less than that developed at the ideal condition. The energy transfer(work) to the
shaft is therefore simply reduced by a certain amount due to slip.

High pressure

Low ~*{Slip &

4
. I ‘ ] 1 ’ Exit velocity profile pressure

Shroud
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Meridional plane Yu2
Hub u,
(a) (b)
o Fig Velocity profile
A at the impeller tip Fig. Effect of slip

In above Fig, the component drawn with dash referred to the ideal conditions without slip and without
dash refers to an ideal condition after considering the slip and non-uniform velocitydistribution at the
tip. The head based on the ideal velocity diagrams without slip is calledEuler’s head (He) and the head
obtained corresponding to the slip is called ideal head

(Hi) as thefluid is ideal. The actual head developed by the machine is related to the ideal head through
theadiabatic or diagram efficiency (h) of a machine.The difference between the Euler’s head (He) and
the ideal head (Hi) is called the slip. Itcan also be defined as the difference between tangential
component of the velocity Vu2 andVu2’ . ThereforeSlip, S = V’u2 - Vu2.The ratio of ideal head with
the slip to the Euler’s head without slip is called the slipcoefficient. Therefore the slip coefficient is
given by

p=Hi/He=Vu2/Vu2

The slip factor is a parameter which limits the work capacity of the compressor evenunder ideal
conditions and this quantity should be as high as possible. More the number of vanes, Greater will be
the value of slip factor, but increases the solidity of the impeller eye, i.e.,adecrease in the effective
flow area. This gives an additional frictional loss at the eye which is notrecommended. It is therefore
necessary to select the number of vanes in the impeller so as to giveminimum losses. Generally, in
practice, 19-20 vanes will be selected so that the slip factor valueis around 0.9.

Surging

The phenomenon of momentary fluctuations in head and discharge due to unsteady flow, Flow
reversal and vibration at low flow rates is called “Surging”.

Let us consider that the compressor is operating at the state C as shown in Fig.4.16. If the flow is
reduced by gradual closing of the delivery valve, the operating point now shifted to stableequilibrium
point B. On further decrease in flow the operating point shifts to the left side of thecurve, eventually
reaches the maximum pressure ratio point A. Any further decrease in flow willnot increase the
pressure ratio and hence starts reducing. At this condition there is a largepressure in the downstream
of the system near exit than at compressor delivery and the flowstops momentarily, and may even
flow in the reverse direction. This reduces the downstreampressure. After short interval of time, the
compressor again starts to deliver the air and theoperating point quickly shifts to C again. Again the



pressure starts increasing and the operatingpoint moves from right to left. If the downstream
conditions are remain unchanged then onceagain the flow will breakdown after point A and the cycle
will be repeated with a high frequency.This phenomenon is called ‘surging’ or ‘pumping’.

If the surging is severe enough then the compressor may be ultimately subjected toimpact loads and
high frequency vibration leads to the physical damage due to the producing ofhigh pressures
repeatedly. Because of this phenomenon at the low flow rates, the compressorcannot operate on the
positive slope of the curve, i.e., to the left portion of the point A.4.17.2 Choking

At higher mass flow rates the behavior of the compressor will be different. If the massflow rates are
higher the characteristic curve will be along ABCD as shown in Fig.4.16. It can be Seen from Fig.
that for the increased mass flow rate the pressure ratio start decreasing andhence the density also. This
effect causes the increase of absolute velocity and angle of incidenceat the diffuser vane top. This
leads to the rapid steepening in the slope of the curve and finallyreaches a point D, beyond which
there will be no further increase in mass flow rate for any valueof pressure ratio. Therefore the
characteristic curve at this point becomes vertical and the point Don the curve is called Choking point.

Choking is therefore defined as the phenomenon in which the mass flow rate reaches to afixed value
irrespective of any of pressure ratios. Choking means the velocity of fluid in thepassage reaches the
velocity of sound at that point within the compressor. Choking may occuranywherewithin the
machine such as at the inlet, in the impeller or in the diffuser section.

Axial flow Compressors

The basic components of an axial flow compressor are a rotor and stator, the former carrying
the moving blades and the latter the stationary rows of blades. The stationary blades convert the
kinetic energy of the fluid into pressure energy, and also redirect the flow into an angle suitable for
entry to the next row of moving blades. Each stage will consist of one rotor row followed by a stator
row, but it is usual to provide a row of so called inlet guide vanes. This is an additional stator row
upstream of the first stage in the compressor and serves to direct the axially approaching flow
correctly into the first row of rotating blades. For a compressor, a row of rotor blades followed by a
row of stator blades is called a stage. Two forms of rotor have been taken up, namely drum type and
disk type. A disk type rotor illustrated in Figure 9.1 The disk type is used where consideration of low
weight is most important. There is a contraction of the flow annulus from the low to the high pressure
end of the compressor. This is necessary to maintain the axial velocity at a reasonably constant level
throughout the length of the compressor despite the increase in density of air. Figure 9.2 illustrate
flow through compressor stages. In an axial compressor, the flow rate tends to be high and pressure
rise per stage is low. It also maintains fairly high efficiency
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Disk type axial flow compressor

The basic principle of acceleration of the working fluid, followed by diffusion to convert
acquired kinetic energy into a pressure rise, is applied in the axial compressor. The flow is considered
as occurring in a tangential plane at the mean blade height where the blade peripheral velocity is U .
This two dimensional approach means that in general the flow velocity will have two components,
one axial and one peripheral denoted by subscript w, implying a whirl velocity. It is first assumed that
the air approaches the rotor blades with an

absolute velocity, “ , atan angle % to the axial direction. In combination with the peripheral

velocity U of the blades, its relative velocity will be Y at and angle A as shown in the upper
velocity triangle (Figure 9.3). After passing through the diverging passages formed between the rotor
blades which do work on the air and increase its absolute velocity, the air

will emerge with the relative velocity of Ver at angle 2 which is less than ﬁ. This turning of air
towards the axial direction is, as previously mentioned, necessary to provide an increase in the
effective flow area and is brought about by the camber of the blades.

Since Vra is less than Vrt due to diffusion, some pressure rise has been accomplished in the
V2 %!

from the rotor at an angle “2 to the axial direction. The air then passes through the passages
formed by the stator blades where it is further diffused to velocity V3 atan angle % \which

in most designs equals to 4 5o that it is prepared for entry to next stage. Here again, the turning of
the air towards the axial direction is brought about by the camber of the blades.

Overall Pressure ratio (pro)
Actual energy transfer or
work done on the air per unit mass 1s
E=hy,-h, =¥ LU, /g,

As there1s no work transfer i the diffuser.,
by energy balance we can write,

hys =Ty =hg, = by,
Thereforeeqn (4. 18) for the ideal gas can be wnittenas
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The overall total-to-total efficiency of the compressor is defined as

_ Total 1sentropic enthalpy rise between the inlet and exit

it ™ Actual enthalpy nise between the same nlet and exit
nm — C;'x(Tﬁ‘« = TM)
cp (T(B - Tm )

Using isentropic relation aﬁ&witﬂ%héﬁ&of@quat—i'ﬁns)is written for the overall pressure ratio as
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